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Question # 1: (22 points) Circle the correct answer.
1. Student’s university numbers consist of numeric values. Therefore, student’s

numbgr is an example of
@Qualimive data. Quantitative data
2. number Stat Quizzes in this semeSter is an example of W
a. Ordinal b. Nominal c. Interv?/@‘j(/aﬁ@

3. which one of the following is a measure of Asymmetry:
a. The median The skewsesS. ¢. The IQR  d. The covariance.
4. To study the relation.betwegn gender (male, female) and the Tawijihi average the
appropriate summary is? PR
a. Histogram. b Bar graph. Q ross tabulﬂtm Scatter diagram.
5. Which one of the following graphi€atPresentation is appropriate for
qualitative data:
a. Histogram b. Ogive @pie chart

__d.cumutdtive frequéncy table

e
s

-

6. If the frequency of a Business students ié 200 from 720 Commerce students then
its angle in the pie chart is:

boso . Pro HP6o
© 1007
el 200
7. ,.B are two independent events, where P(A)= 0.4, P{AUB)=0.58, thén P(B)=

c.' 0.5
Can’t be determined by the given informations.
§. How many 3-digit numbers can be formed from the digits 3, 4, 5, and 6,
wi,t_h;ut Zrlepeating the digits?? Y % 3 X 2 X |
b. 10 e

o

e

. 20 T
C : /

‘9. - AneXperiment consists-of selecting a student-body president and vice president. ...

All undergraduate students (first year through fourth year) are eligible for these
offices. How many sample points (possible outcomes as to the classifications)

exist?

P

; e
o

. 2 p o e
' /,/,
Fi 70 = : ‘

. 70

c. 80 d. 82 ES
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11, Events that have no sample points in common are
a. ipdépendent events.

"?" ‘mutually exclusive events.

. complement events.

o d. simple events.
- 12 in which distribution the data values have the same frequency:

.4, Bimodal distribution
b Uniform distribution

. P01sson distribution.

d. Exponential distribution.
- 13. Suppose that X is a binomial random variable with 100 trials and probability of

success equal 0.3. Find the approximated probability of at least forty

SUCCesses o G@
209 y(0) s\G)eay (o

" 4. 0.0146

(14-15) Given the probability distribution of the number of family members

Number of family members (x) 2 3 4 5 6 7 R
Probability P(X = x) = f(x) G.03 a®iy|0.39 |0.26 | 0.1 0.08
0,046 {0, 427186 ] 1.3 [06 [ 0,56
14, FindP(X < 4). _
(ar0.17 Tz O Y
@ 0.44
c. 0.66
d. 0.83
15, Find E(X)= T

a. 4

c. 5.5

. d 6
(16 18) The average life for a TV set is 10 years. Suppose that the lifetime follows an
exponential dlstrlb’ggw;l
16. Find The probability that the life time is between 3 and 6 years is
w P (bL & )
192 e .
A 0.741 e 0.59§8
d. 0.808 0,7 EE:
17. Find The probability that the life time is less than 5 years is
a. 0.6065 -~

d. None of the above
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18. 25% pf the TV life will be at most how long?
/a,/2.8 years

~b.) 13.8 years

32.1 years —

d. "43.2 years/hou
(19-21) AlBireh Arab Eoep#st has noted that they admit an average of 4 customers arrive

at the bank every 20 min, Define the random variable X to be the number of admitted

customers
19. What.is the appropriate probability distribution for X7 .

a-*; Poisson
.b. Binomial
) Uniform

Exponential
20. Find the probability that 3 customers arrive in 10 min

(@%\VVO.OZSG e
{b,./0.1804
) 0.1954

d. 0.8053
21, Find the probability that more than 2 customers arrive 20 min

a. 0.0915"

22, A basketball plg,yefﬁas probability 0.2 of making a free shot. What is the probability
aifé?;xactly 3 if he throws 6 shots from the line?

. & 00819
! 0.8202 c
c. 09131 ( 3)

d. 0.0381

i
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Question # 2 (8 points)

The following data show the number of hours worked by two workers x, y in 8 days

. answer the following questions.

(y-5) (y=-3¢ | G-% | x-3)* | x=X)y-Y)

X y

2 5 ) 25 -~ 5 ZS Se

41 7 | -4 [ & -2 9 12

8 9 ~ 2 g / / - 7

S| 12 l / -2 i -2

7 10 — | J ) 0 3
8] 13 2. Y ! } a

‘16| 16 g 25 a 3] o
6 16 IS £ s -] / - g
e 122 30
1. Compute X,y L

—~ Sx 56" A — E',)/ B < &5
; :_...——»— P .ﬁ d e —— — ;‘?

2. Compute and interpret the sample correlation coefficient.

- | 5_{}@ )¢
5>( = z’(x-—w)a

F

m—J

‘/\/:_T _Sxa o

5. <,

176 pmepng (;WJ@(\T@?_”

(.Y2¢g
e

Tee Y 12y

aver3e 1S
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Question # 3 (8 points)
The distribution of scores for a particular exam follows a normal distribution with mean
of 70 and standard deviation of 6. Answer the following:
_a. Find the probability that a randomly selected student get more than 74.5
" inthe exam?
b. Fimd the probability that a randomly selected student get between 68.5
and 70 in the exam?
c. If the least 8% will fail the course, what is the Score should be obtained
to avoid Failing the course?
d. If you got a score of 79 in this class, at what percentile is your score?

7 (é%ggxg 20y o (~o. é ag\% c o )
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Question # 4 (6 points) |
The STAT grades of 50 students in the first and their genders are s hown below.

Astudent is randomly selected from these 50

STAT Grade
Gender | Lessthan20 |[20upto 30 30 and more | Total
Female 4 16 12 32
Male 6 2 10 18
Total 10 J 18 22 50

1. What is the probability th this student is male and his grade 20 up to 307

y
2. What is the probability that this student is female?

g2z P Y

fo
3. What is the probability that this student has grade 20 and more?

o

i

"

16 ~ :

4, What is the probability that this student has grade less than?0 or female?

= ‘;”
B o WWM

5. If this student has grade 30 and more, what is the probability that he is male?
PRV
o7 Ve
6. If this student is female ,/?hat is the probability that her gra20 up 30. 7
16
!

e,
i .
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Question # 5 (2 points)
The random variable X is known to be uniformly distributed where E(x)= 5, var(x):%,

‘Write the probability density function.
G, b ,
Ex = . Vor(x) = -
-t b 5 . L ) 2
L=a+b
2

o Fhb = )

-

b .= 2
@
a+ b < "
Q + 6 = / bf‘f
e = y /f
Question # 6 (4 points)

Stat Sections in this summer are 6, the probability that a class don’t cover all stat material
is 10%, Find the probability that

a. Two sections will cover the material.

b, At least one section will not cover stat material




